H & 0l & AHS B Ml A

20243 =0lloh LB Al 2t AR A

SA AEZE A A
B DRI RILLREE
el 22X 29 2435t (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AE 2| ArH A 7,180,658 7,140,911 39,747
= 180,000
== 216,715
[Ea 6,668,671
= 115,272
ASNHASSH+RLEE 6,060, 140 5,990,000 70,140
= 180,000
= 168,019
o 5,596,849
= 115,272
22X 2 243 3,577,266 3,448,794 128,472
o4y ZE xdae| 1,838,892 1,554,946 283,946
101 @124H| 643,478 593,784 49,694
U IIRINZZENSES 643,478 593,784 49,694
ONAE ZE JAN22X AABI(AER
Xiztel) 119,754
@JIE22(1E0] F2RH)
2,263,000 ~3F 122 81,468
@A ZAH| 140,000 x38 * 122 5,040
OJubNESS 115,000 x3&* 122 4,140
@©EEFItI 450,000 x3E *23] 2,700
@Al 115,0002 3+ 122 4,140
OZN Lot=1=3 97,483,000 *13% 12,674
g3 97,488,000 +8. 3% 8,092
@Lu/=H| 250,000 «3 *23] 1,500
ONAY ZE JIZHN22X A8 (M=, I
) 523,724
@Jl=s(1H0/e-8E22Y)
2,210,000 <30E 62 397,800
(OFSR= 2]l 140,000 <3062 25,200
OJLbNERS) 12,4202 +«30H 62 20,236
OAIZL =& 12,4203 x30E 6 20,236
OZIN Lot=1=3 463,470,000 *13% 60,252
201 er23| 138,414 137,162 1,252
01 At2teltl 74,000 74,000 0
0N BY SASE Y AQE 7Y
20,000,000 x 14 20,000
ODMF BY 02} YBEY TS AR
50,000,000& »14! 50,000
oDy Y Tuwel FUIYK
2,000,000& 22 4,000
02 s5=34l 64,414 63,162 1,252
oNIIR3 1,800,000& *12& 21,600
O3t Re= 450,000« 12& 5,400
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A AldZe|AFE A
B DRI RILLREE
Rl 2 28 243t EEREE)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OnNE 2L HZSH & B=(31LS)
1,745 +502 | £ x8& 698
ONAH 2Y SIH *RF|(ER)
1,630&*3002| A+ 12& 5,868
0NN BY BIA HYRF(SR)
1,368 2502 | E{ x5& 1,698
oOZY HHE sI|H BEEEE
500, 0002 *10CH 5,000
OZY HHE sI|H 62Xl
500,000 x40+ 123 24,000
OB Iy HANHRLS
150,000 *1CH 150
206 =8| 495,000 386,000 109,000
01 M=l 495,000 386,000 109,000
ODMY BY T4 BR U BN 2Y
4002 +62,5002+ 165 400,000
ON4d 22 =4 HIZ(EHl) L XA P
i, 2==M&,J1EH) 15,000,000 *33] 45,000
ODHE BY HEW WM FETY
5,000,000& *43] 20,000
OnAd Z& B2 ¥ FsEH MM 2
30,000,000& *14! 30,000
401 Al&HIZ20HY| 550,000 323,000 227,000
01 AlEHI 550,000 323,000 227,000
OLNAE ZY =3lF RotE & BIHIE M
A 30,000,000 13 30,000
ONAE 2 IEE 4X 2 A& KX - &
= 200,000,000& x 14! 200,000
ODAME B A, HATH 24 Y FY)
30,000,000&*13l 30,000
ON&d ZY &2 YUH A (66,115m")
1,500,000& *203] 30,000
ODMY BY ANEXF P4 L Hi|
30,000,000 & *23| 60,000
ODMY BY MHR B4 U HY|
25,000,000 & *23| 50,000
ODAR BY ORAAB T BT
100,000,000 * 14 100,000
ODAN BY IR U WA FY| BA
25,000,000 3 #2042 50,000
405 XHeHE S| 12,000 93,000 281,000
01 AL =ZFSHI 12,000 93,000 A81,000
OAd ZE g &d37] 2
480,000 *25CH 12,000
ore 22X 292t 825,685 809,055 16,630
101 @124t 199,390 181,091 18,299
M IIRNZ22XsSEs 199,390 181,091 18,299
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SA AEZE A A
B DRI RILLREE
el 22X 29 2435t (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
0RLY HIEE 228
3,500,000 %43] 14,000
ORLHY SR PLE 7
10,000,000 * 14! 10,000
OBAYITE S| L
48,0002 12 48
OBYI| TN 247 LT
100,000& %12 100
206 MH=H| 10,600 10,600
01 M=4l 10,600 10,600
o223 M=EMHE &
600,000 *14] 600
oot= 2 s 7Y
10,000,000 * 14| 10,000
401 Al HIZ 2018 362,520 362,880 A360
01 Al&H| 350,000 350,000 0
ODNZLY QtE2HZAAE R E4(HE)
350,000,000 * 14 360,000
03 AlESTHYI 2,520 2,880 A360
OetE2AZAIE =2 FUH|
350,000,000 *0.72% 2,520
405 AHAHE S 20,000 20,000
01 IR =S F = 20,000 20,000
oct=E22AE )|+
5,000,000& =24 10,000
OCHBRIZX M BINL 7Y
10,000,000& * 14! 10,000
EHRIAIY 2ZZHI(MZAIE) 4,800 4,800 0
202 04| 4,800 4,800
01 =LHOLI 4,800 4,800
oot AdEs2e 2UHEE
20,0003 x2E %1203 4,800
DAE 22X 2F 2t 907,889 1,079,993 A172,104
01 eIA4H| 432,910 343,406 89,504
MU IIRIMZZENSES 432,910 343,406 89,504
OnAE 2&X JIZHZ2 X 375,087
@JI228(1H0|4-E=RH)
2,112,000 x10E* 122 253,440
(OFSR= 2]l 140,0002 x10&«12& 16,800
OJuPNESS 107,750 x10E « 12& 12,930
@EEFHI 450, 0002 x22/*10H 9,000
OAIZt2 ==& 107,750 x10& « 128 12,930
@Az 305,100,000 8. 3% 25,324
@AUES 305, 100,000 *13% 30,663
@Il=4l 250, 0002 *10H <23 5,000
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SA AEZE A A
HH: BRNAZIULRHE
=l 2 2 2435 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OLUAE U Aldatel LAIAS 57,823
@za 78,8803 x4 x120& 37,863
©oFs=g 78,8802 x4 »24 L 7,573
@©=AlH| 8,000 »4H »120& 3,840
@aAxt=g 78,8802 x4 H 6 1,8%4
@AHES 51,170,000& *13% 6,653
201 eer23y| 164,979 176,587 A11,608
01 AtR2te|HI 52,473 22,036 30,437
ONAFHANE =A2e 225 7
300,000& * 122 3,600
Otd4 1S & 283 =22 7Y
300, 0003 404 A+ 128 14,400
OXZIINE HR =8
250,000,000 * 1% 2,500
OEORE & =222 S20Al XS
8,000& +83|x12& »2H 1,536
OJIZtMHE HE2 =&
70,0003 x2E *22] 280
OZEAZZIZHE &)| 2| S99
134,310& + 122 1,612
OANE2cIANE A & ZAZSZHENE oY
ANg sXi2el 89
430,000 «20 A+ 128 10,320
OZYU2AZIZHE EXNOCIZE FXl2c
g9 172,400~ 12& 2,069
ODME 24l U NI £ZB2| B
1,812,580 62 10,876
ODAE NQMI X Y ANA HA B
605,000 62 3,630
OLNAE 2 LSIH2E ALY [
clE84 137,500« 12& 1,650
2 35234l 112,506 154,551 N42,045
OB BHE BT +HSAY|
2,000,000& *23] 4,000
o3 500,0002 x84 A 12 48,000
Odot=ER= 300,000 x50 =% 123 18,000
osties 75,000 104 2% 122 900
01HF U HH RR(FLR)
1, 7453 +50L*40H* 122 4,183
Ox~YAE FXE=
4,000,000 *2JH 2= 8,000
OAFANEE RNES
2,000,000& ~12& 24,000
OLUNSIAE FHl =FA2c
400,000 12& 4,800
OZZELHE 52| AHBAL =2
70,0002+ 104 2 70
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SA AEZE A A
B DRI RILLREE
el 22X 29 2435t (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OSZSHATH othe XIILE2
100,000 #5214 500
Ost=ALotEa Hal|
48,0002 12 48
206 TH=H 50,000 50,000
01 =l 50,000 50,000
oAU T U 3= BD Al
1,000&*10,000=+43] 40,000
ODMFRBX U ZFE 22 79
500,000 *10== 5,000
OLNAYE FU &L 24 MM
5,000& «1,000m" 5,000
401 AIEHIZ R 0HYI 260,000 424,000 A164,000
01 Al&H| 260,000 424,000 A164,000
ONAE JU Atz A OH{E FHH|
60,000,000 * 14 60,000
OAARAIE 2BIHE & AIE= RAl2c
200,000,000 * 14 200,000
=23 22| BF 1,517,908 1,688,101 A170,193
== 59,714
o 1,458,194
IAE ZE AN NE & 29 1,171,634 1,317,690 A146,056
101 e124d| 581,914 448,690 133,224
M ORINZZ2NSE S 581,914 448,690 133,224
OLAdE ¥ 2E2F 22| 581,914
@JI22(1H0I2-8E22Y)
2,210,000 x50E x4 & 442,000
Of=gas| 140,000 x50H x4 28,000
OJSPNENS) 12,4202 +50H x4 22,484
@Al 12,4202 +x50E ~4 & 22,484
@iii2E= 514,968,000& *13% 66,946
201 eer23y| 89,720 69,000 20,720
02 S3=gHl 19,720 9,000 10,720
OLE Jighl 8,000,000& 22 16,000
OnAE 28 AU HEA &S
200,000 * 122 2,400
ONAE Z& ZU HEA SRS
110,000& ~ 12 1,320
03 A= SHI 70,000 60,000 10,000
OEdl Lxt 10,000,000 * 14 10,000
oy M 10,000,000& * 14! 10,000
o2g=3+¢Y 10,000,000 * 14! 10,000
os2= N & 88
40,000,000 *14] 40,000
301 LEetE N = 500,000 800,000 /300,000
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SA AMECAIE A
B BRNADIULQEE
Rl 0EA 2F)|e &5 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
14 IIEt2 8= 500,000 800,000 300,000
ODMTBY 012R2 WE AZATY
5,000& %100,000& 500,000
o4y 2 D208 29 247,200 250,290 A3,090
308 AtXIEMSOIE 247,200 250,290 A3,090
183 S| 2SO Z&HASAIE 247,200 250,290 23,090
ORE0| =M & A HE 2 ?IE 247,200
@2 EArHI 240,000,000& *14] 240,000
@A =2 240,000,000 *3% 7,200
dat2stdy 2el 89,714 110,761 A21,047
= 59,714
Ea 30,000
101 @12A4H| 32,732 36,219 N\3,487
=S 32,732
M IRINZZE2NSES 32,732 36,219 N\3,487
OJIZtHZ22 X+ 21 244| 32,732
OPIEEIENIE"EEE L)
2,063,000& 1 ~12& 24,75
=S 24,756
OF=EA =gl 140,000 x 12 * 122 1,680
= 1,680
OJubNESS 105,410« 18+ 122 1,265
= 1,265
A2 22+E 105,4103x 1~ 123 1,265
< 1,265
OZIN L==y=¥=3 28,966,000 *13% 3,766
== 3,766
201 er2 3| 56,982 61,542 A4,560
=S 26,982
s 30,000
01 AtR2te|HI 20,780 3,980 16,800
Od3t=Estd Ler2d| 20,780
@F=D| Xz 540,000& 22 1,080
== 1,080
©3R222X LI=H|
250,000 1 =23 500
= 500
@5 RAHUES
150,000« 12& 1,800
[ 1,800
@©ATAE FA22SH
500,000& * 122 6,000
< 6,000
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SA AMECAIE A
B DB RILLREE
&l NEA 2|8 &F (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
@2+HIlAlE A52CEH
750,000 * 12 9,000
= 9,000
@&J| otd e 200,000 122 2,400
= 2,400
2 S22l 36,202 57,562
O=3=23l 36,202
@©&J|, Sl
3.,000,000& *12& 36,000
= 6,000
Ea 30,000
©gt=Agtot Bl €=
52,0002 %12 52
S 52
©sTIEA =5 HF
150,000& %12 150
== 150
RIS 28ZHI(DAE ) 9,360 9,360
202 048l 9,360 9,360
01 2L AL 9,360 9,360
O=LHNHI 9,360
@NAIANE 2tLHOIH]
20,0002 x2E %1502 6.000
@UAIANE 2204 |
80,0002 x32H #4353 960
olwad s S22 A XA At
80,0003 x2& 153 2,400
oW a2t gddst 964,966 853,105
= 180,000
= 108,305
o 561,389
= 115,272
oMz(ere )2t == )2y 266,666 128,185
101 @124H| 140,662 0
04 JIZtHIZ 2 &t 140,662 0
oz s 28 140,662
@Jl==01d F=22d)
2,210,000 ~4H 122 106,080
(OFSR= 2]l 140,000& x4~ 123 6.720
OJubNESS 12,4203 x4« 123 5,397
OAIZLI=E 12,4202 x4+ 122 5,397
OZIN L==4=¥=3 123,594,000 *13% 16,068
@u/=y| 250,000 4 1,000
201 Ler23 | 101,404 106,185
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2A:

A& e At

A
M8 BRNADIULRHE
Chel: DMz Batata 435t (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 60,240 49,440 10,800
oct=E2d 28 NS
400,000 «2CH* 12& 9,600
Ot E==J| itz
40,0003 #3042+ 128 1,440
octA 29 23 7
250,000 x204 2% 123 6,000
oet22d EL2 2|2 M
1,5002 +201 2 %23 +5, 0005 30,000
OlE AL R 9
300,000 x20H =% 123 7,200
OlfE 22 AZ2HIS
100, 000& #2)4 A+ 122 2,400
OetA ZE2e 29
300,000 x 12 3,600
02 S3=gHl 23,164 38,745 15,581
OetA 3323
250,000 x204 2% 123 6,000
Ot A B &9 A5
250,000& %20 2+42 D 2,000
0212 +=d, FA2e
500,000& #20H A +22] 2,000
ogt2&&xtE FAlH 13,164
ORF(FYS) 1, 7453 +6002| Bl 123 12,564
@©=4&H| 150,000& 42 600
03 A= I 18,000 18,000 0
OOIETB BUAXA FSHA
500, 0002 189 2-*23] 18,000
401 AlZHIZ SO 16,000 20,000 24,000
01 A28l 16,000 20,000 24,000
OlfEA & oA Ald FRIE
4,000,000 4= 21 16,000
405 AHaHE S 8,600 2,000 6,600
01 AL =S F = 8,600 2,000 6,600
oZ2=2A sAS2 &8I 2
500,000& *20H A +22] 2,000
ootk AFNAMSI 28
2,200,000 +3CH 6,600
ERIAIY 22 Mzt ) 15,600 18,320 A2,720
201 223 3,000 3,120 A120
01 At22t2lH] 3,000 3,120 A120
OdIANREZFY 200,000 * 122 2,400
OANRA E=)| ditg 50,0002 128 600
202 04t 12,600 16,200 /2,600
01 =LHOHI 12,600 15,200 A2,600
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2A:

A& e At

el
BN DENRRIULQNE
2l Dz Eatatd 435t (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OY =L 20
20,0003 x7&E #5032 7,000
OgF=a 22/0|
80,0008 7 x102] 5,600
EIZHEA 2L (HEAL) 237,300 266,600 A29,300
[ 18,305
T 103,723
= 115,272
201 er= 3| 32,700 42,500 29,800
01 AtR2tc|HI 14,300 9,700 4,600
OdfldAtel & =g =37¢
300,000 * 122 3,600
OdH& A OISA 01013 =&
100,000& %52 500
Ostal, Ast Fot xtg At
500,000 22 1,000
O%dz 84 =& 100,000 %102!+23] 2,000
Odli&Atel & ZEj2el 9
300,000 *x2)4 A+ 128 7,200
02 s5=34l 3,400 12,800 29,400
OdilgAtel & 323
100,000& *20H A+ 128 2,400
OSH&A & A2 X2+
250,0003 204 2x23] 1,000
03 A2 I 15,000 20,000 25,000
OMNEA 22 T S A XA
5,000,000 32l 15,000
301 EtE N = 198,600 217,380 A 18,780
= 18,305
Ea 65,023
= 115,272
11 dAMEEIXIZE S 12,000 25,200 213,200
OS2 NEN BN (YRPNK)
200,000 +20& x13] 4,000
O22Bo A H3s F4 K&
200,000 *20& *13] 4,000
O2st2ZoiZA A& At
200,000& x20& *13] 4,000
14 IIEt2 83 186,600 192,180 ~\b5,580
O2st&HBNEA 2 186,600
OF=¢=1u] 70,0002 %2,5002] 175,000
= 18,305
o 41,423
= 115,272
@doi=2E It 80,000 x20H 1,600
Of=ss2s=P/ Fal 250, 0002 «20E <22 10,000
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2A:
T ZH -
o=

Ctl:

AlERIRIANR A
BRI DY LS E
&43}

= >
oWz Eatatd 243

M

Ofl &F2H

HMEE
Ofl &k2h

6,000

6,720

s
150,000 x20H +23|

6,000

6,000

6,720

360,000
180,000
90,000
90,000

Mo W

360,000

101 2124d|

184,812
92,406
46,203
46,203

HH

118,523

66,289

VBIEEEPEE
OFIOH=& OHY 2 ol
o5 %

®J1=3(1E0/0-3

4

O}
0z
12
iy
=z
o

@A

3y
00

HL

0

@40

U

2,210,000 «6H~9&

140,0002 *6 2 x0&

112, 4202 «6 H 0

112, 4202 «6 H 0

139,100,000 *13%

250,00021+62

2,210,000 1= 08

184,812
157,125

119,340
59,670
29,835
29,835

7,560
3,780
1,890
1,890
6,071
3,036
1,518
1,517
6,071
3,035
1,518
1,518
18,083
9,041
4,521
4,521
1,500
750
375
375
26,187

Mo W Mo W Mo W Mo W Mo W

H

19,890
9,945
4,972

oW

118,523

66,289
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2A:

EN
M. AATROBILLREE
Chel: DMz Batata 435t (SH9 H2)
H - B8 S9l(3) - NRAY - BES ol ke G o HlmS2
i 4,973
(OFSELF=Eaa] 140,000 * 1= x93 1,260
= 630
& 315
i 315
@AX=E 12,4203 *1F+x9H 1,012
= 506
& 253
i 253
OB =, 12,4203 x1F+x9F 1,012
= 506
& 253
i 253
@4HEE = 23,173,560 x13% 3,013
= 1,507
& 753
= 753
201 L2 | 175,188 241,477 A66,289
= 87,54
& 43,797
i 43,797
01 AtR2telt] 161,500 219,800 A58,300
OHIOted 28 AEHA Xt
400,000 x2CH *22 2 53| 88,000
= 44,000
& 22,000
= 22,000
OFI| UXt 50,0002 = 1CH+12& 600
= 300
& 150
= 150
OHIOt=d 249 28 72
500,000& =123 6,000
= 3,000
& 1,500
i 1,500
OHIOt=d 22 clEZ3 M
1,500& *33|*5,0005 22,500
= 11,250
& 5,625
i 5,625
OHIOt-Hd 282 235 ME
20,000,000 *23] 40,000
= 20,000
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2A:

S
B DRI DILLREE
2l Dz Eatatd 435t (EEEE))
M- B SRAEA) - HRAR - B2 of v G o HIDE2
< 10,000
s 10,000
OJIZHHl THE HERE ¢
100, 0002 2 *43] 800
2 400
S 200
= 200
OCHHMIE 2E 2] =203
300,000 * 12 3,600
= 1,800
= 900
= 900
02 S3=gHl 13,688 21,677 AT,989
OCtUHIE 332 100,000& * 122 1,200
= 600
= 300
= 300
OHIOt=d A2 FXE=
1,500,000 *4=2 7| 6,000
= 3,000
= 1,500
o 1,500
OHIOt=d W StEA SXI2e]
25,0002 x2E*3 A 123 1,800
= 900
= 450
Ea 450
CEET NI 4,688,00021%14] 4,688
= 2,344
= 1,172
o 1,172
OWEstol2 Hoted Z208 2 (KHAl) 85,400 80,000 5,400
401 AlZHIZ SO 80,000 80,000 0
01 AlZ8| 80,000 80,000 0
OHIOt=H S AlEE &X
5,000,000 *40H 2= 20,000
OHIOt=d &2 F2F |FXE2+
10,000, 000& »23] 20,000
OHIOt=d T3 AE 2
20,000,000 * 14 20,000
OCHHHIE, HEA Ald 2=
10,000,000 x23] 20,000
405 AHaHE = 5,400 5,400
01 AL =S F = 5,400 5,400
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SA AEZE A A
B DRI DILLREE
Chel: DMz Batata 435t (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OHIOl=& AEMASI 7L
2,200,000 *2CH 4,400
022 A2 &I 2Y
1,000,000 170 2 1,000
HEE ZADHE 948,576 991,308 N2,732
= 4,230
o 944,346
SSAIE 2 948,576 991,308 N2, 732
= 4,230
o 944,346
SSAEFX 2] 290,908 352,529 A\61,621
201 fer= 3| 4,000 4,800 A800
01 At 2|l 4,000 4,800 A800
OssANE 72 2257
2,000,000& *22] 4,000
206 MH=HI 20,000 20,000
01 MHZH| 20,000 20,000
O=sAd=E 2F 72 Hl2 F
16,0002 *1,2501 20,000
401 AIEHIX R0 266,908 327,729 60,821
01 AlZH| 265,000 325,000 260,000
OsEsAd= RAl2el 265,000
@OESAIE FX&C] SA
30,000,000 *6IH 2 180,000
@ MEIED XIotEs B2 At
30,000,000& »14] 30,000
@©FAEZ 2 AL 2=BA
20,000,000 *14] 20,000
@3A23HlE L=SAt
20,000,000 * 14! 20,000
@2l SAE HIE SAH
15,000,000& » 14 15,000
03 AIZSTHYI 1,908 2,729 A821
S3AE |X2el Sl
265,000,000 0.72% 1,908
AHESSAEEF20NH 657,668 627,979 29,689
[ 4,230
T 653,438
201 el 361,450 381,854 20,404
01 At2teltl 258,420 85,240 173,180
OAARESSAE FAl2e 258,420
O3 HIS7Y
40,0002 x235* 122 11,040
@getEaXd HogS 1Y
40,0002 x30S+ 122 14,400
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SAM: A2 AN A
JzH. DA TAIDHE
el SSAld2e (SH &)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
®@2H0|13H&Al E1 & OIstliXl #HIEX=
1,000,000& *20= 20,000
O=s33&Ea =X Xz
715,000 *523| 37,180
OSEoIEA HAaze| 2A
550,000& x23&s* 128 151,800
@OZ2Z5&A @EHe|AE fE2 29
250,000 x8=* 12& 24,000
02 S324H| 103,030 296,614 A 193,584
OALRIEEZ2A4AE A& 103,030
@O==3H&A 3| 500,000& *x13 500
OATE B2Z2AE MRS
200,000 *x23=*12& 55,200
OSE3EA MolE 23
100,003 6=+ 128 7,200
@OBZ3HEA HlaY SA 22
10,0002 *x300H A+ 12 3,600
ORaFHEE2 300,000&*67= 20,100
OS=3HEA A EE &
1,000,000& *x13] 1,000
@OZ2Z3HEA SHHEE B8 2
2,000,000&*13] 2,000
@HXIZ XS KA 50,000& *1CH 50
OIS BEZ 1,000,000 = 1CH 1,000
@OHFZXE HIIBA=E 50,000& 23| 100
@A RF(ER)
1,630& *500L* 12& 9,780
@A XIE =& 2,500,000 *1CH 2,500
401 A& H|ILE0HY] 296,218 126,125 170,093
& 4,230
= 291,988
01 Al&H| 294,100 125,000 169, 100
OARZIESAE B4 L A 294,100
@OESAE 24 L Iid
50,000,000 x 14! 50,000
OFXEAE B4 L A
50,000,000& =14 50,000
@©O3F,210|3H&84A B & JiA
2,500,000& *20= 50,000
®@OIAIOIZ2 S SHEHA AlF AX|
130,000, 000& = 14! 130,000
@UOIDX EEX SHEA ARE &AL
10,000,000& * 14! 10,000
& 3,000
= 7,000
O-SEA SHEA AFD HEALE
4,100,000 & * 1A 4,100
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SA: AL/ At A

3 HHE ZTADHY

Rl SSAE2e EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 1,230
s 2,870
03 Al 2 0HHI 2,118 1,125 993
Oxm2 33 e =08l
294,100,0002%0.72% 2,118
2ZHI(AL22IAE ) 171,942 159,603 12,339
= 44,466
= 127,476
=3l 127,476 120,364 7,112
EA2E01=3H| 127,476 120,364 7,112
201 Let=23 | 119,59 113,324 6.272
01 AtR2te|Hl 66,660 44,460 22,200
OHINFES 15,000,000&*1H 15,000
otlE7=g 100,000 ~12& 1,200
ogA| 30,0002 ~0 2,700
OSADI & 400,000 «2CH 12 9,600
OAlgac| &
300,000 43 1,200
OS2t =4
8,000 x102*10&* 122 9,600
OF=Jl Hlts 2xt
40,000 x120H = 12 5,760
ORUEAE 1,300,000& 122 15,600
OFAI B4 EY
3,000,000& *23] 6,000
2 S22l 52,936 68,864 15,928
oNIIR3 2,000,000& ~12& 24,000
Odot=es= 500,000& 122 6,000
osties 200,000& 12 2,400
o¥IXY RF(BR)
1,630& *6002| El* 123 11,736
OdE Xt =4t 1,250,000 «4CH 5,000
OIS NSIHA 50,0002 *4CH 200
OHY I HIIZA 50,0008 x22|*4CH 400
OHIXY BE= 800,000 =4CH 3,200
203 =4l 7,880 7,040 840
02 HRAIMAHA R S| 1,080 840 240
Ot PRI 40,0002 =27 1,080
03 A=A R =AH] 2,000 2,000 0
OAHF=NAHRZNH| 2,000,000& 2,000
M A2 LRFAI 4,800 4,200 600
ORANEg g4yl 400,000+ 122 4,800
el 2| 44,466 39,239 5,227
s 44,466
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SA AMECAIE A
M S| (AL RRIA L)
ciel: olte )
RA - I BRA(E) - HRA - BES of vy A
HAEstEstZ &2l 44,466 39,239
= 44,486
101 e124d| 39,700 35,033
= 39,700
03 BRA(RIH )22 U2+ 39,700 35,033
OSRH(RINHA) 22N E S 39,700
@J=2= 2,052,640« 18~ 128 24,632
S 24,632
@©HEEFIHI 2,052,640+ 120%+1H 2,464
S 2,464
OF=RA=gi]| 140,000 x 12 * 12 1,680
== 1,680
ORSE s 90,000 x1&* 122 1,080
= 1,080
OESSEgS 170,000& x 1= 123 2,040
< 2,040
OF{=Eas) 50,0002 x 18 x 122 600
S 600
OJLbNESS 11,9702 +BA| 2+ 1H* 17 1,628
= 1,628
@Eg 40,0003« 1 +12& 480
S 480
OFSI=s =) 2,062, 6403 +50%+23] 2,053
= 2,053
@EX= 36,657,000 8. 3% 3,043
< 3,043
WM HsREE=S 4,766 4,206
S 4,766
M 3RA(RIAHY) 22X BEE2RE=s S 4,766 4,206
O42E 36,657,000 *13% 4,766
= 4,766
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